%terated version of lorenz attractor in Mitlab
clear %clears al variab es

signa=10; Uset paraneters for atractor
beta=83;

p=28,

x=rand*20-10; 9%tart wthrandomx y, z val ues
y=rand*20- 10;
z=rand*20- 1;

for t=1: 5000, %-or loop runs 5000 ti mes
newx=x+ 01*(sigma*(y-x)); %update based on ODEs
newy=y+ 01*(x*(p-2)-y); %01 nakes each update s nall
newz =z + 01*(x*y- beta*z);
X=newx; 9%ave new val ues as x Y,z
y=newy;, %or next cyclethroughthis For loop
Z=newz;
dix(t)=x %tore xy,zintthelenent of each vector
dlyt)=y,
dlz(t)=

end

plat3(alxalyalz) %la the 3D Lorenz atractor



